

Some Inequalities for the Forgotten Topological Index of a Line Graph

I. Ž. Milovanović, M. M. Matejić, E. I. Milovanović

Faculty of Electronic Engineering
University of Niš, 18000 Niš, Serbia
{igor, ema, marjan.matejic}@elfak.ni.ac.rs

Abstract

Let G be a simple connected graph with n vertices and m edges, and let $d(e_1) \geq d(e_2) \geq \dots \geq d(e_m)$ be a sequence of edge degrees of G . Denote by $EF = \sum_{i=1}^m d(e_i)^3$ reformulated forgotten index of graph G . Lower and upper bounds for EF are obtained.

Key words: Topological indices (of graph), line graph, forgotten topological index.

2010 Mathematics Subject Classification : 05C12, 05C50

1 Introduction

Let $G = (V, E)$, $V = \{1, 2, \dots, n\}$, $E = \{e_1, e_2, \dots, e_m\}$, be a simple connected graph with n vertices and m edges. Denote by $d_1 \geq d_2 \geq \dots \geq d_n > 0$, $d_i = d(i)$, and $d(e_1) \geq d(e_2) \geq \dots \geq d(e_m)$, sequences of its vertex and edge degrees, respectively. We will use the following notation: $\Delta_{e_1} = d(e_1) + 2$, $\Delta_{e_2} = d(e_2) + 2$, $\delta_{e_1} = d(e_m) + 2$, $\delta_{e_2} = d(e_{m-1}) + 2$. If i -th and j -th vertices (e_i and e_j edges) are adjacent, we write $i \sim j$ ($e_i \sim e_j$). As usual, $L(G)$ denotes a line graph of graph G .

A topological index for a graph is a numerical quantity which is invariant under automorphisms of the graph. The simplest topological indices are the number of vertices and edges of graph. Two vertex-degree-based topological indices, known as the first and the second Zagreb indices, M_1 and M_2 , are defined as [8]:

$$M_1 = M_1(G) = \sum_{i=1}^n d_i^2 \quad \text{and} \quad M_2 = M_2(G) = \sum_{i \sim j} d_i d_j.$$

As shown in [5], the first Zagreb index M_1 can also be expressed as

$$M_1 = \sum_{i \sim j} (d_i + d_j). \tag{1}$$

* Corresponding Author: I. Ž. Milovanović

Ψ Received on March 14, 2018 / Accepted on February 12, 2019

A so called forgotten topological index, F , is defined as [7] (see also [9]):

$$F = F(G) = \sum_{i=1}^n d_i^3.$$

By analogy to M_1 , the invariant F can be written in the following way

$$F = \sum_{i \sim j} (d_i^2 + d_j^2) = \sum_{i \sim j} (d_i + d_j)^2 - 2M_2. \quad (2)$$

Details on the topological indices M_1 , M_2 and F can be found in [2, 3, 5, 6, 9, 10, 11, 12, 16, 17].

The first and the second reformulated Zagreb indices, EM_1 and EM_2 , are defined as [15]

$$EM_1 = EM_1(G) = \sum_{i=1}^m d(e_i)^2 \quad \text{and} \quad EM_2 = EM_2(G) = \sum_{e_i \sim e_j} d(e_i)d(e_j).$$

In essence, EM_1 and EM_2 are not new topological indices, as these correspond to the first and the second Zagreb indices of a line graph $L(G)$ of graph G . Therefore, we have $EM_1(G) = M_1(L(G))$ and $EM_2(G) = M_2(L(G))$. According to this, we can define reformulated forgotten index of a line graph as (see [18])

$$EF = EF(G) = \sum_{i=1}^m d(e_i)^3. \quad (3)$$

Todeschini et al [20] (see also [21]) introduced multiplicative variants of the first and the second Zagreb indices, Π_1 and Π_2 , as

$$\Pi_1 = \Pi_1(G) = \prod_{i=1}^n d_i^2 \quad \text{and} \quad \Pi_2 = \Pi_2(G) = \prod_{i \sim j} d_i d_j.$$

Multiplicative sum first Zagreb index, Π_1^* , was defined in [6] as

$$\Pi_1^* = \Pi_1^*(G) = \prod_{i \sim j} (d_i + d_j). \quad (4)$$

In this paper we are interested in topological index EF . We prove some inequalities involving lower and upper bounds for EF .

2 Preliminaries

In this section we recall some discrete inequalities for real number sequences that will be used in proofs of theorems.

Let $I = \{1, 2, \dots, m\}$ and $I_2 = \{1, m\}$ be index sets. If $a = (a_i)$, $i = 1, 2, \dots, m$, is a real number sequence and $p = (p_i)$, $i = 1, 2, \dots, m$, is positive real number sequence, then a weighted mean of numbers a_1, a_2, \dots, a_m is defined as

$$M_1(a, p; I) = \frac{\sum_{i=1}^m p_i a_i}{\sum_{i=1}^m p_i}.$$

Let $a = (a_i)$ and $b = (b_i)$, $i = 1, 2, \dots, m$, be non-negative real number sequences of similar monotonicity and $p = (p_i)$, $i = 1, 2, \dots, m$, be positive real number sequence. If pairs

$$(M_1(a, p; I - I_2), M_1(a, p; I_2)) \quad \text{and} \quad (M_1(b, p; I - I_2), M_1(b, p; I_2))$$

are similarly ordered, the following inequality is valid [13]

$$\sum_{i=1}^m p_i \sum_{i=1}^m p_i a_i b_i - \sum_{i=1}^m p_i a_i \sum_{i=1}^m p_i b_i \geq \frac{p_1 p_m (a_1 - a_m)(b_1 - b_m)}{p_1 + p_m} \sum_{i=1}^m p_i, \quad (5)$$

with equality if and only if $a_2 = \dots = a_{m-1} = (a_1 + a_m)/2$ or $b_2 = \dots = b_{m-1} = (b_1 + b_m)/2$.

Let $p = (p_i)$, and $a = (a_i)$, $i = 1, 2, \dots, m$, be two positive real number sequences with the properties

$$\sum_{i=1}^m p_i = 1, \quad 0 < r \leq a_i \leq R < +\infty, \quad i = 1, 2, \dots, m.$$

In [19] the following inequality was proven

$$\sum_{i=1}^m p_i a_i + rR \sum_{i=1}^m \frac{p_i}{a_i} \leq r + R. \quad (6)$$

Equality in (6) holds if and only if $R = a_1 = \dots = a_m = r$, or for arbitrary k , $1 \leq k \leq m - 1$, holds $R = a_1 = \dots = a_k \geq a_{k+1} = \dots = a_m = r$.

Let $a_1 \geq a_2 \geq \dots \geq a_m > 0$ be positive real number sequence. In [4] it was proven

$$\sum_{i=1}^m a_i - m \left(\prod_{i=1}^m a_i \right)^{\frac{1}{m}} \geq (\sqrt{a_1} - \sqrt{a_m})^2, \quad (7)$$

with equality if and only if $a_2 = \cdots = a_{m-1} = \sqrt{a_1 a_m}$, and

$$\frac{\sum_{i=1}^m a_i}{m \left(\prod_{i=1}^m a_i \right)^{\frac{1}{m}}} \geq \left(\frac{a_1 + a_m}{2\sqrt{a_1 a_m}} \right)^{\frac{2}{m}}, \quad (8)$$

with equality if and only if $a_2 = \cdots = a_{m-1} = (a_1 + a_m)/2$.

Let $a = (a_i)$, and $b = (b_i)$, $i = 1, 2, \dots, m$, be two positive real number sequences with the properties

$$0 < r_1 \leq a_i \leq R_1 < +\infty \quad \text{and} \quad 0 < r_2 \leq b_i \leq R_2 < +\infty.$$

In [1] the following inequality was proven

$$\left| m \sum_{i=1}^m a_i b_i - \sum_{i=1}^m a_i \sum_{i=1}^m b_i \right| \leq m^2 \alpha(m) (R_1 - r_1) (R_2 - r_2), \quad (9)$$

where

$$\alpha(m) = \frac{1}{m} \left\lfloor \frac{m}{2} \right\rfloor \left(1 - \frac{1}{m} \left\lfloor \frac{m}{2} \right\rfloor \right) = \frac{1}{4} \left(1 - \frac{(-1)^{m+1} + 1}{2m^2} \right).$$

For positive real number sequence $a = (a_i)$, $i = 1, 2, \dots, m$, in [22] (see also [14]) the following inequality was proven

$$m \left(\frac{1}{m} \sum_{i=1}^m a_i - \left(\prod_{i=1}^m a_i \right)^{\frac{1}{m}} \right) \leq m \sum_{i=1}^m a_i - \left(\sum_{i=1}^m \sqrt{a_i} \right)^2. \quad (10)$$

3 Main results

In the following theorem we prove the inequality that sets up lower bound for EF in terms of invariants M_1 , M_2 , F , and parameter m .

Theorem 3.1. Let G be a simple connected graph with $m \geq 2$ edges. Then

$$EF \geq \frac{(F + 2M_2 - 3M_1)^2}{M_1} + 3M_1 - 8m + \frac{\Delta_{e_1} \delta_{e_1} (\Delta_{e_1} - \delta_{e_1})^2}{\Delta_{e_1} + \delta_{e_1}}. \quad (11)$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_{m-1}) + 2 = \delta_{e_2} = (\Delta_{e_1} + \delta_{e_1})/2$.

Proof: For $p_i = a_i = b_i = d(e_i) + 2, i = 1, 2, \dots, m$, the inequality (5) transforms into

$$\sum_{i=1}^m (d(e_i) + 2) \sum_{i=1}^m (d(e_i) + 2)^3 \geq \left(\sum_{i=1}^m (d(e_i) + 2)^2 \right)^2 + \frac{\Delta_{e_1} \delta_{e_1} (\Delta_{e_1} - \delta_{e_1})^2}{\Delta_{e_1} + \delta_{e_1}} \sum_{i=1}^m (d(e_i) + 2). \quad (12)$$

Let $e = \{i, j\}$ be an arbitrary edge of graph G . Then $d(e) = d_i + d_j - 2$, and from (1) and (2) we have

$$M_1 = \sum_{i \sim j} (d_i + d_j) = \sum_{i=1}^m (d(e_i) + 2),$$

and

$$F + 2M_2 = \sum_{i \sim j} (d_i + d_j)^2 = \sum_{i=1}^m (d(e_i) + 2)^2.$$

According to these equalities and (12) it follows

$$\sum_{i=1}^m (d(e_i) + 2)^3 \geq \frac{(F + 2M_2)^2}{M_1} + \frac{\Delta_{e_1} \delta_{e_1} (\Delta_{e_1} - \delta_{e_1})^2}{\Delta_{e_1} + \delta_{e_1}}. \quad (13)$$

On the other hand, we have

$$\begin{aligned} \sum_{i=1}^m (d(e_i) + 2)^3 &= \sum_{i=1}^m (d(e_i)^3 + 6(d(e_i) + 2)^2 - 12(d(e_i) + 2) + 8) \\ &= \sum_{i=1}^m d(e_i)^3 + 6(F + 2M_2) - 12M_1 + 8m, \end{aligned}$$

that is

$$EF = \sum_{i=1}^m (d(e_i) + 2)^3 - 6(F + 2M_2) + 12M_1 - 8m. \quad (14)$$

Combining relations (14) and (13) we get inequality (11).

Equality in (13) holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \dots = d(e_{m-1}) + 2 = \delta_{e_2} = (\Delta_{e_1} + \delta_{e_1})/2$, therefore equality in (11) holds under the same conditions. ■

By a similar procedure as in the case of Theorem 3.1, the following statement can be proved.

Theorem 3.2. Let G be a simple connected graph with m edges. If $m \geq 3$, then

$$EF \geq \Delta_{e_1}^3 + \frac{(F + 2M_2 - \Delta_{e_1}^2)^2}{M_1 - \Delta_{e_1}} - 6(F + 2M_2) + 12M_1 - 8m.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_m) + 2 = \delta_{e_1}$.

If $m \geq 3$, then

$$EF \geq \delta_{e_1}^3 + \frac{(F + 2M_2 - \delta_{e_1}^2)^2}{M_1 - \delta_{e_1}} - 6(F + 2M_2) + 12M_1 - 8m.$$

Equality holds if and only if $L(G)$ is regular graph.

If $m \geq 4$, then

$$EF \geq \Delta_{e_1}^3 + \delta_{e_1}^3 + \frac{(F + 2M_2 - \Delta_{e_1}^2 - \delta_{e_1}^2)^2}{M_1 - \Delta_{e_1} - \delta_{e_1}} - 6(F + 2M_2) + 12M_1 - 8m.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_{m-1}) + 2 = \delta_{e_2}$.

In the next theorem we prove inequality that establishes an upper bound for EF in terms of invariants M_1 , M_2 , F , and parameter m .

Theorem 3.3. Let G be a simple connected graph with $m \geq 1$ edges. Then

$$EF \leq (\Delta_{e_1} + \delta_{e_1} - 6)(F + 2M_2) + (12 - \Delta_{e_1}\delta_{e_1})M_1 - 8m. \quad (15)$$

Equality holds if and only if $L(G)$ is a regular graph or for arbitrary k , $1 \leq k \leq m - 1$, holds $\Delta_{e_1} = d(e_1) + 2 = \cdots = d(e_k) + 2 \geq d(e_{k+1}) + 2 = \cdots = d(e_m) + 2 = \delta_{e_1}$.

Proof: For

$$p_i = \frac{(d(e_i) + 2)^2}{\sum_{i=1}^m (d(e_i) + 2)^2}, \quad a_i = d(e_i) + 2,$$

$i = 1, 2, \dots, m$, $r = \delta_{e_1} = d(e_m) + 2$, and $R = \Delta_{e_1} = d(e_1) + 2$, the inequality (6) becomes

$$\frac{\sum_{i=1}^m (d(e_i) + 2)^3}{\sum_{i=1}^m (d(e_i) + 2)^2} + \Delta_{e_1}\delta_{e_1} \frac{\sum_{i=1}^m (d(e_i) + 2)}{\sum_{i=1}^m (d(e_i) + 2)^2} \leq \Delta_{e_1} + \delta_{e_1},$$

i.e.

$$\sum_{i=1}^m (d(e_i) + 2)^3 \leq (\Delta_{e_1} + \delta_{e_1})(F + 2M_2) - \Delta_{e_1}\delta_{e_1}M_1. \quad (16)$$

From (14) and (16) we obtain inequality (15).

Equality in (6) holds if and only if $R = a_1 = \dots = a_m = r$, or for arbitrary k , $1 \leq k \leq m - 1$, holds $R = a_1 = \dots = a_k \geq a_{k+1} = \dots = a_m = r$. Therefore, equality in (15) holds if and only if $L(G)$ is regular graph or for arbitrary k , $1 \leq k \leq m - 1$, holds $\Delta_{e_1} = d(e_1) + 2 = \dots = d(e_k) + 2 \geq d(e_{k+1}) + 2 = \dots = d(e_m) + 2 = \delta_{e_1}$. ■

Corollary 3.4. Let G be a simple connected graph with $m \geq 2$ edges. Then

$$EF \leq \frac{(F + 2M_2)^2}{4M_1} \left(\sqrt{\frac{\Delta_{e_1}}{\delta_{e_1}}} + \sqrt{\frac{\delta_{e_1}}{\Delta_{e_1}}} \right)^2 - 6(F + 2M_2) + 12M_1 - 8m. \quad (17)$$

Equality holds if $L(G)$ is regular.

Proof: The above inequality is obtained from (14) and

$$2\sqrt{\Delta_{e_1}\delta_{e_1}M_1 \sum_{i=1}^m (d(e_i) + 2)^3} \leq \sum_{i=1}^m (d(e_i) + 2)^3 + \Delta_{e_1}\delta_{e_1}M_1 \leq (\Delta_{e_1} + \delta_{e_1})(F + 2M_2).$$

■

In the same way as in Theorem 3.3 we can prove the following result.

Theorem 3.5. Let G be a simple connected graph with m edges. If $m \geq 3$, then

$$EF \leq \Delta_{e_1}^3 + (\Delta_{e_2} + \delta_{e_1})(F + 2M_2 - \Delta_{e_1}^2) - \Delta_{e_2}\delta_{e_1}(M_1 - \Delta_{e_1}) - 6(F + 2M_2) + 12M_1 - 8m.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \dots = d(e_m) + 2 = \delta_{e_1}$ or for arbitrary k , $2 \leq k \leq m - 1$, holds $\Delta_{e_2} = d(e_2) + 2 = \dots = d(e_k) + 2 \geq d(e_{k+1}) + 2 = \dots = d(e_m) + 2 = \delta_{e_1}$.

If $m \geq 3$, then

$$EF \leq \delta_{e_1}^3 + (\Delta_{e_1} + \delta_{e_2})(F + 2M_2 - \delta_{e_1}^2) - \Delta_{e_1}\delta_{e_2}(M_1 - \delta_{e_1}) - 6(F + 2M_2) + 12M_1 - 8m.$$

Equality holds if and only if $L(G)$ is regular or for arbitrary k , $1 \leq k \leq m - 2$, holds $\Delta_{e_1} = d(e_1) + 2 = \dots = d(e_k) + 2 \geq d(e_{k+1}) + 2 = \dots = d(e_{m-1}) + 2 = \delta_{e_2}$.

If $m \geq 4$, then

$$EF \leq \Delta_{e_1}^3 + \delta_{e_1}^3 + (\Delta_{e_2} + \delta_{e_2})(F + 2M_2 - \Delta_{e_1}^2 - \delta_{e_1}^2) - \Delta_{e_2}\delta_{e_2}(M_1 - \Delta_{e_1} - \delta_{e_1}) - 6(F + 2M_2) + 12M_1 - 8m.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \dots = d(e_{m-1}) + 2 = \delta_{e_2}$ or for arbitrary

k , $2 \leq k \leq m-2$, holds $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_k) + 2 \geq d(e_{k+1}) + 2 = \cdots = d(e_{m-1}) + 2 = \delta_{e_2}$.

In the following theorem we determine lower bound for EF in terms of parameters m , Δ_{e_1} , δ_{e_1} , and graph invariants M_1 , M_2 , F , and Π_1^* .

Theorem 3.6. Let G be a simple connected graph with $m \geq 2$ edges. Then

$$EF \geq m (\Pi_1^*)^{\frac{3}{m}} - 6(F + 2M_2) + 12M_1 - 8m + \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2. \quad (18)$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_{m-1}) + 2 = \delta_{e_2} = \sqrt{\Delta_{e_1} \delta_{e_1}}$.

Proof: For $a_i = (d(e_i) + 2)^3$, $i = 1, 2, \dots, m$, the inequality (7) becomes

$$\sum_{i=1}^m (d(e_i) + 2)^3 \geq m \left(\prod_{i=1}^m (d(e_i) + 2)^3 \right)^{\frac{1}{m}} + \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2.$$

Since

$$\Pi_1^* = \prod_{i \sim j} (d_i + d_j) = \prod_{i=1}^m (d(e_i) + 2),$$

this inequality transforms into

$$\sum_{i=1}^m (d(e_i) + 2)^3 \geq m (\Pi_1^*)^{\frac{3}{m}} + \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2. \quad (19)$$

Now, from (14) and (19) we obtain (18).

Equality in (7) holds if and only if $a_2 = \cdots = a_{m-1} = \sqrt{a_1 a_m}$, therefore equality in (18) is attained if and only if $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_{m-1}) + 2 = \delta_{e_2} = \sqrt{\Delta_{e_1} \delta_{e_1}}$. \blacksquare

By a similar procedure as in the case of Theorem 3.6, the following statement can be proved.

Theorem 3.7. Let G be a simple connected graph with m edges. If $m \geq 3$, then

$$EF \geq \Delta_{e_1}^3 + (m-1) \left(\frac{\Pi_1^*}{\Delta_{e_1}} \right)^{\frac{3}{m-1}} - 6(F + 2M_2) + 12M_1 - 8m + \left((\Delta_{e_2})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if $d(e_3) + 2 = \cdots = d(e_{m-1}) + 2 = \delta_{e_2} = \sqrt{\Delta_{e_2} \delta_{e_1}}$.

If $m \geq 3$, then

$$EF \geq \delta_{e_1}^3 + (m-1) \left(\frac{\Pi_1^*}{\delta_{e_1}} \right)^{\frac{3}{m-1}} - 6(F + 2M_2) + 12M_1 - 8m + \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_2})^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_{m-2}) + 2 = \sqrt{\Delta_{e_1}\delta_{e_2}}$.

If $m \geq 4$, then

$$EF \geq \Delta_{e_1}^3 + \delta_{e_1}^3 + (m-2) \left(\frac{\Pi_1^*}{\Delta_{e_1}\delta_{e_1}} \right)^{\frac{3}{m-2}} - 6(F + 2M_2) + 12M_1 - 8m + \left((\Delta_{e_2})^{\frac{3}{2}} - (\delta_{e_2})^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if $d(e_3) + 2 = \cdots = d(e_{m-2}) + 2 = \sqrt{\Delta_{e_2}\delta_{e_2}}$.

Similarly as for Theorem 3.6, according to inequality (8) we obtain the following statement.

Theorem 3.8. Let G be a simple connected graph with $m \geq 2$ edges. Then

$$EF \geq m (\Pi_1^*)^{\frac{3}{m}} \left(\frac{\Delta_{e_1}^3 + \delta_{e_1}^3}{2\sqrt{\Delta_{e_1}\delta_{e_1}}} \right)^{\frac{2}{m}} - 6(F + 2M_2) + 12M_1 - 8m.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \cdots = d(e_{m-1}) + 2 = \delta_{e_2} = ((\Delta_{e_1}^3 + \delta_{e_1}^3)/2)^{1/3}$.

In the following theorem we determine an upper bound for EF in terms of parameters m , Δ_{e_1} , δ_{e_1} , and graph invariants M_1 , M_2 , F , and Π_1^* .

Theorem 3.9. Let G be a simple connected graph with $m \geq 2$ edges. Then

$$EF \leq m (\Pi_1^*)^{\frac{3}{m}} - 6(F + 2M_2) + 12M_1 - 8m + m^2\alpha(m) \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2. \quad (20)$$

Equality holds if and only if $L(G)$ is a regular graph.

Proof: For $a_i = b_i = (d(e_i) + 2)^{3/2}$, $i = 1, 2, \dots, m$, $R_1 = R_2 = \Delta_{e_1}^{\frac{3}{2}}$, $r_1 = r_2 = \delta_{e_1}^{\frac{3}{2}}$, the inequality (9) becomes

$$m \sum_{i=1}^m (d(e_i) + 2)^3 - \left(\sum_{i=1}^m (d(e_i) + 2)^{\frac{3}{2}} \right)^2 \leq m^2\alpha(m) \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2. \quad (21)$$

For $a_i = b_i = (d(e_i) + 2)^3$, $i = 1, 2, \dots, m$, the inequality (10) becomes

$$\left(\sum_{i=1}^m (d(e_i) + 2)^{\frac{3}{2}} \right)^2 \leq (m-1) \sum_{i=1}^m (d(e_i) + 2)^3 + m (\Pi_1^*)^{\frac{3}{m}}. \quad (22)$$

According to (21) and (22) we get

$$\sum_{i=1}^m (d(e_i) + 2)^3 \leq m (\Pi_1^*)^{\frac{3}{m}} + m^2 \alpha(m) \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2. \quad (23)$$

Now, from (23) and (14) we get (20).

Equality in (10) holds if and only if $a_1 = \dots = a_m$, therefore equality in (22), i.e. in (20), is attained if and only if $\Delta_{e_1} = d(e_1) + 2 = \dots = d(e_m) + 2 = \delta_{e_1}$. ■

Let $\Delta = d_1$ and $\delta = d_n$. Then we have $2\delta \leq \delta_{e_1} \leq \Delta_{e_1} \leq 2\Delta$. Also, for any m holds $\alpha(m) \leq 1/4$. Therefore we have the following corollary of Theorem 3.9.

Corollary 3.10. Let G be a simple connected graph with $n \geq 2$ vertices and m edges. Then

$$EF \leq m (\Pi_1^*)^{\frac{3}{m}} - 6(F + 2M_2) + 12M_1 - 8m + 2m^2 \left(\Delta^{\frac{3}{2}} - \delta^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if G is a regular graph.

Since $F \geq 2M_2$ we get the next corollary.

Corollary 3.11. Let G be a simple connected graph with $n \geq 2$ vertices and m edges. Then

$$EF \leq m (\Pi_1^*)^{\frac{3}{m}} - 24M_2 + 12M_1 - 8m + 2m^2 \left(\Delta^{\frac{3}{2}} - \delta^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if G is a regular graph.

Similarly as in case of Theorem 3.9, the following result can be proved.

Theorem 3.12. Let G be a simple connected graph with m edges. If $m \geq 3$, then

$$EF \leq \Delta_{e_1}^3 + (m-1) \left(\frac{\Pi_1^*}{\Delta_{e_1}} \right)^{\frac{3}{m-1}} - 6(F + 2M_2) + 12M_1 - 8m \\ + (m-1)^2 \alpha(m-1) \left((\Delta_{e_2})^{\frac{3}{2}} - (\delta_{e_1})^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \dots = d(e_m) + 2 = \delta_{e_1}$.

If $m \geq 3$, then

$$EF \leq \delta_{e_1}^3 + (m-1) \left(\frac{\Pi_1^*}{\delta_{e_1}} \right)^{\frac{3}{m-1}} - 6(F + 2M_2) + 12M_1 - 8m \\ + (m-1)^2 \alpha(m-1) \left((\Delta_{e_1})^{\frac{3}{2}} - (\delta_{e_2})^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if $L(G)$ is a regular graph.

If $m \geq 4$, then

$$EF \leq \Delta_{e_1}^3 + \delta_{e_1}^3 + (m-2) \left(\frac{\Pi_1^*}{\Delta_{e_1} \delta_{e_1}} \right)^{\frac{3}{m-2}} - 6(F + 2M_2) + 12M_1 - 8m \\ + (m-2)^2 \alpha(m-2) \left((\Delta_{e_2})^{\frac{3}{2}} - (\delta_{e_2})^{\frac{3}{2}} \right)^2.$$

Equality holds if and only if $\Delta_{e_2} = d(e_2) + 2 = \dots = d(e_{m-1}) + 2 = \delta_{e_2}$.

Acknowledgement

This work was supported by the Serbian Ministry for Education, Science and Technological development.

References

- [1] M. Biernacki, H. Pidek, C. Ryll–Nardzewski, Sur une inegalite entre des integrales definies, *Ann. Univ. Mariae Curie–Skłodowska A*, 4 (1950), 1–4.
- [2] B. Borovićanin, K. C. Das, B. Furtula, I. Gutman, Zagreb indices: Bounds and Extremal graphs, In: *Bounds in Chemical Graph Theory – Basics*, (I. Gutman, B. Furtula, K. C. Das, E. Milovanović, I. Milovanović, Eds.), *Mathematical Chemistry Monographs, MCM 19*, Univ. Kragujevac, Kragujevac, 2017, pp. 67–153.
- [3] B. Borovićanin, K. C. Das, B. Furtula, I. Gutman, Bounds for Zagreb indices, *MATCH Commun. Math. Comput. Chem.*, 78 (2017), 17–100.
- [4] V. Cirtoaje, The best lower bound depended on two fixed variables for Jensen’s inequality with ordered variables, *J. Ineq. Appl.*, 2010 (2010) Article ID 128258, 1–12.
- [5] T. Došlić, B. Furtula, A. Graovac, I. Gutman, S. Moradi, Z. Yarahmadi, On vertex–degree–based molecular structure descriptors, *MATCH Commun. Math. Comput. Chem.*, 66 (2011), 613–626.
- [6] M. Eliasi, A. Iranmanesh, I. Gutman, Multiplicative versions of first Zagreb index, *MATCH Commun. Math. Comput. Chem.*, 68 (1) (2012), 217–230.
- [7] B. Furtula, I. Gutman, A forgotten topological index, *J. Math. Chem.*, 53 (2015), 1184–1190.

- [8] I. Gutman, N. Trinajstić, Graph theory and molecular orbitals. Total π -electron energy of alternate hydrocarbons, *Chem. Phys. Lett.*, 17 (1972), 535–538.
- [9] I. Gutman, On the origin of two degree-based topological indices, *Bull. Acad. Serbe Sci. Arts (Cl. Sci. Math. Natur.)*, 146 (2014), 39–52.
- [10] I. Gutman, Degree-based topological indices, *Croat. Chem. Acta*, 86 (2013), 351–361.
- [11] I. Gutman, K. C. Das, The first Zagreb index 30 years after, *MATCH Commun. Math. Comput. Chem.*, 50 (2004), 83–92.
- [12] I. Gutman, B. Furtula, Ž. Kovijanić Vukićević, G. Popivoda, On Zagreb indices and coindices, *MATCH Commun. Math. Comput. Chem.*, 74 (2015), 5–16.
- [13] I. Gutman, K. C. Das, B. Furtula, E. Milovanović, I. Milovanović, Generalizations of Szőkefalvi Nagy and Chebyshev inequalities with applications in spectral graph theory, *Appl. Math. Comput.* 313 (2017) 235–244.
- [14] H. Kober, On the arithmetic and geometric means and on Hölder's inequality, *Proc. Amer. Math. Soc.*, 9 (1958), 452–459.
- [15] A. Milićević, S. Nikolić, N. Trinajstić, On reformulated Zagreb indices, *Mol. Divers.*, 8 (2004), 393–399.
- [16] E. I. Milovanović, I. Ž. Milovanović, E. Č. Dolićanin, E. Glogić, A note on the first reformulated Zagreb index, *Appl. Math. Comput.*, 273 (2016), 16–20.
- [17] I. Ž. Milovanović, E. I. Milovanović, I. Gutman, B. Furtula, Some inequalities for the forgotten topological index, *Int. J. Appl. Graph Theory*, 1 (1) (2017), 01–15.
- [18] I. Ž. Milovanović, M. M. Matejić, E. I. Milovanović, Remark on forgotten topological index of a line graphs *Bull. Inter. Math. Virt. Inst.*, 7 (2017), 473–478.
- [19] B. C. Rennie, On a class of inequalities, *J. Austral. Math. Soc.*, 3 (1963), 442–448.
- [20] R. Todeschini, D. Ballabio, V. Consonni, Novel molecular descriptors based on functions of new vertex degrees, In: I. Gutman and B. Furtula (Eds.), *Novel Molecular Structure Descriptors – Theory and Applications I* (pp. 73–100), *Mathematical Chemistry Monographs*, MCM 8, Univ. Kragujevac, Kragujevac, 2010.

- [21] R. Todeschini, V. Consonni, New local vertex invariants and molecular descriptors based on functions of the vertex degrees, *MATCH Commun. Math. Comput. Chem.*, 64 (2) (2010), 359–372.
- [22] B. Zhou, I. Gutman, T. Aleksić, A note on the Laplacian energy of graphs, *MATCH Commun. Math. Comput. Chem.*, 60 (2008), 441–446.